Anx B - Work Completion Report

Company	Synopolies		D'I C						
Project/site	GVRC		Name of contractor	p. chandini		Sl. No. site b			
Block no.	OTIC		Nature of work	scaffolding		Dt. site bills			07.01.0005
WO no.			Work done from date		07-01-2025	M-codex bill	ID.		07-01-2025
			Work done to date		07-02-2025	WO issued?			
WO date			Contractor bill no.			GST bill requ	uired?		
Sl. No.	Unit/floor no		Details of work		Qty	Units	Rate ID	Rate	
1		NW scaffolding removing with	ms round pine 40mm		3840.00				Amount
2					3840.00	Sit	SCF117	1.50	5,760
3	cuplock scaffolding	goods lift scaffolding removing	with ms round pipe 40mm		3400.00	sft	SCF117 SCF117	1.50	5,100
4	work	SE scaffolding removing with n Central lobby area mitsubushi 1	ns round pipe 40mm		3520.00		SCF117	1.50	5,280
5					2640.00	stt	SEF117	1.50	3,960
		Central lobby area mitsubushi 2			2640.00	sft	SCF117	1.50	3,960
<u>6</u>		Rosh lift in chemical block			2720.00	sft	SCF)17	1.50	4,080
8									0
									0
9									0
10									0
							•	Total	28,140
							fare from city	20.00%	5,628
						Total amoun	t incl. taxes for	work done	33,768
Remarks:									
	project manager		Approved by QS team			Approved by	Director/E&D t	eam	
Sign:			Sign:			Sign:		14	7
Date:	7/2/2	1	Date:			Date:			d

ESTIMATE SHEE			4	Damash rade	i.,	
Company Name:	synopolise			Approved l	Ramesh redo	ı <u>y</u>
Project:	gvrc- gv one	<u> </u>	4	Sign:	LL	
Work Description:	TK Lift scaffoled work re-	noving with ms pipe 40dia			Т	
Contractor:	Hashi P. Chandini					
Prepared By	Akhil					
Date:	06.11.2024 to 12.11.2024				-	
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount
1		NW scaffolding removing with ms round pipe 40mm	3840.00	sft	1.50	5,760
2	cuplock scaffolding work	goods lift scaffolding removing with ms round pipe 40mm	3400.00	sft	1.50	5,100
3		SE scaffolding removing with ms round pipe 40mm	3520.00	sft	1.50	5,280
1		Central lobby area mitsubushi 1	2640.00	sft	1.50	3,960
Ly E		Central lobby area mitsubushi 1	2640.00	sft	1.50	3,960
2		Rosh lift in chemical block	2720.00	sft	1.50	4,080
	providence and the first second of the secon	The second secon		TOTAL		28,140
		Add 20% as site is fare from ci	Add 20% as site is fare from city			5,628
		THAM BUT TO BE STORY THE WAR AS A STORY OF THE STORY OF T	TOTAL AMOUNT		UNT	33,768

MEASUREMENT	SHEET			,	· . [·		
Company Name: synopolise				Approved l	Ramesh red	dv		
Project:	gvrc- gv one		,	Sign:				
Work Description:	TK Lift scaffoled work removing	ng with ms pipe 40dia					-	
Contractor:	Harshir P. Chandini	,						
Prepared By	Akhil			,				
Date:	06.11.2024 to 12.11.2024		,					
			. A	В	С	D	Е	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1		NW scaffolding removing with ms round pipe 40mm	32.00	1.00	120.00	1.00	3840.00	sft
2		goods lift scaffolding removing with ms round pipe 40mm	34.00	1.00	100.00	1.00	3400.00	sft
3	cuplock scaffolding work	SE scaffolding removing with ms round pipe 40mm	32.00	1.00	110.00	1.00	3520.00	sft
4		Central lobby area mitsubushi 1	24.00	1.00	110.00	1.00	2640.00	sft
5		Central lobby area mitsubushi 1	24.00	1.00	110.00	1.00	2640.00	sft
E		Rosh lift in chemical block	34.00	1.00	80.00	1.00	2720.00	sft

Bill for Labour Charges

P chandini Hyderabad

Date: 08-02-2025

In favor of:

GVRC

Project / Site:

Innopolis

Location:

Kolthur

Type of Work:

scaffolding work

Towards: Labour charges

S No.	Description	Amount
1.	Brief description of work done: cuplock scaffolding work	
	Total amount = Rs.33768/- Work done from date 07-01-2025 to 07-02-2025	Rs. 13,507/-

Amount in Words: thirteen thousand five hundred seven Rupees Only.

		Sign:

Bill for Consumables

P chandini Hyderabad

Date: 08-02-2025

In favor of:

GVRC

Project / Site:

Innopolis Kolthur

Location: Type of Work:

scaffolding work

Towards:

Consumables

S No.	Description	Amount
1.	Brief description of work done:cuplock scaffolding work	
	Total amount = $Rs.33768/-$	Rs. 6754/-
	Work done from date 07-01-2025 to 07-02-2025	

Amount in Words: six thousand seven hundred fifty four Rupees Only.

	Sign:

Bill for Equipment Allowance

P chandini Hyderabad

Date: 08-02-2025

In favor of: **GVRC**

Project / Site: Location: Kolthur Innopolis

Towards: Type of Work: scaffolding work

Equipment allowance

	. 1	1. 1	S No.
Work done from date 07-01-2025 to 07-02-2025	Total amount = $Rs.33768$ /-	Brief description of work done:cuplock scaffolding work	Description
	Rs. 13507/-		Amount

Amount in Words: thirteen thousand five hundred seven Rupees Only.

Sign:

Scanned with OKEN Scanner